W and y
0.5

1.0

= 0.014(26) y = 0.935(69) => 0.935(68)

rm7 78 med(mad) ACBF

LIIII|II]I|IfII|IIII|IIII|IIII[I!

\U 5 I ;55555
! '"IMIN | o 5- -
AN, l”lluhut N |hll|hlllwm|mh M"]J m] i ] 'l

I
P 1 "SR TR
| i "
| l’m I| 1 ]Ill" nlr T |MII "T,”“ |] !‘]1" "1”' ||I||1| ||||[||Tll‘ l”’ 1||]| H'T”}‘

hh f"f" IW L b W‘\Wf H’“"“”WW#'WMMMM H’MW wr Wﬂ 1!‘ # m'w ﬁ" i “Wu“

ll I[

\- NWI M' ol X
'lrurﬂnnl., q1f|| L lm if‘ﬂ‘l'm'

["I"I"l"l

Inﬂ iTHY ”’H Mluﬂu'[ Jih H‘p Iyt FHIIHHM MWW"“W{WMM ;VMW }WJ, il ‘Mm ﬂ!- T ”W “

II|IIII|I[II|IIII|[III|IIIIII

5000 4000 o000

N (R) z = 0.78536
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